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SOCIOLOGY — HONOURS
Paper : DSE-A-2
(Sociology of Work and Industry)
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]
The figures in the margin indicate full marks.
Group — A
Answer any two questions.
1. Define occupation. Explain the conditions of work in industrial society.

2. Explain the difference in work culture in Industrial Society and Information Age.

3. What is gender discrimination? Discuss gender discrimination found in the workplace.

4. Discusss the significance of informal sector in a developing country like India.

Group - B
5. Answer any five questions :
(a) Differentiate between work and occupation.
(b) Compare Industrial and post-Industrial Society.
(c) Define alienation. Mention two main causes of alienation in industrial society.
(d) What is meant by forced labour in industrial socicty?
(e) Differentiate between paid and unpaid work with examples.
(D) Establish a relation between Information and Technology.

(g) Write a note on disaster management in industrial society.
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Group - C

6. Answer any five questions : 2x5
(a) What is ICT?
(b) What are the two characteristics of Information Society?
(c) What are the areas of vulnerability?
(d) What is meant by ‘Feminization of Labour’?
(e) Mention two problems of women in workplace.
(f) Mention two types of industrial risk.
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